METALASTIK'NOVIBERA"

Stary Nr
Typ wibroizolatora Guma}’ Kat. lub Nr Kat.
(twardosc)
Nr Rys.

RA 100 A M10 M 10 40 IRH 1861700 10-00106-01
RA 100 A M12 M12 40 IRH 2256120 10-00166-01
RA 100 B M10 M 10 60 IRH 1861710 10-00107-01
RA 100 B M12 M12 60 IRH 2256130 10-00167-01
RA 200 A M10 M 10 40 IRH 1861740 10-00110-01
RA 200 A M12 M12 40 IRH 2255720 10-00165-01
RA 200 B M10 M 10 60 IRH 1861750 10-00111-01
RA 200 B M12 M12 60 IRH 1860350 10-00091-01
RA 350 A M12 M12 40 IRH 2256370 10-00172-01
RA 350 A M16 M 16 40 IRH 1861760 10-00112-01
RA 350 B M12 M12 60 IRH 2256380 10-00173-01
RA 350 B M16 M 16 60 IRH 1861770 10-00113-01
RA 500 A M 16 409RH 1861800 10-00116-01
RA 500 B M 16 (60-9RH 1861810 10-00117-01
RA 800 A M 16 40-9RH 1861820 10-00118-01
RA 800 B M 16 60 IRH 1861830 10-00119-01
RA 1200 A M 20 ( 40 IRH 2255360 10-00154-01
RA 1200 B M 20 ) 60 9RH 2255370 10-00155-01
RA 1800 A M20 40 IRH 2255380 10-00156-01
RA 1800 B M20 | 60 IRH 2255390 10-00157-01
Fail Safe EF 17-1463-35 M12 - 35 IRH 17-1463-35 10-00503-02
Fail Safe EF 17-1463-45 M12 45 IRH 17-1463-45 10-00504-01
Fail Safe EF  17-1463-60 M12 ) 60 9RH 17-1463-60 10-00505-01
Fail Safe EF 17-1463-70 (( w12 70 9RH 17-1463-70 10-00506-01
RAEM 40 A M10 40 IRH 1861860 10-00122-01
RAEM 40 B (r M 10 60 IRH 1861870 10-00123-01
RAEM 60 A ) mM12 40 IRH 2256760 10-00183-01
RAEM 60 B M12 60 IRH 2256770 10-00184-01
RAEM 60 E ' M12 10-00129-01
RAEM 125 A M10 M 10 40 IRH 1861720 10-00108-01
RAEM 125 A M12 _ M12 40 IRH 2256140 10-00168-01
RAEM 125 B M10 M 10 60 IRH 1861730 10-00109-01
RAEM 125 B M12 _ M12 60 IRH 2256150 10-00169-01
RAEM 350 A M12 M12 40 IRH 2256440 10-00174-01
RAEM 350 A M16 : M 16 40 IRH 1861780 10-00114-01
RAEM 350 B M12 M12 60 IRH 2256450 10-00175-01
RAEM 350 B M16 M 16 60 IRH 1861790 10-00115-01
RAEM 800 A M 16 40 IRH 1861840 10-00120-01
RAEM 800 B M 16 60 IRH 1861850 10-00121-01
RAEM 1500 A M 20 40 IRH 2255400 10-00158-01
RAEM 1500 B M 20 60 IRH 2255410 10-00159-01
RAEM 2500 A M 24 40 IRH 2255420 10-00160-01
RAEM 2500 B M 24 60 IRH 2255430 10-00161-01
RAB - 0 M12 55 IRH 2256600 10-00178-01
RAB - 2 M12 55 IRH 2256610 10-00179-01
RAB - 3 M12 55 IRH 2256620 10-00180-01
Cushyfloat  17-1600-45 M 12 45 IRH 17-1600-45 10-00535-01
Cushyfloat  17-1600-55 M12 55 IRH 17-1600-55 10-00536-01
Cushyfloat  17-1600-65 M 12 65 IRH 17-1600-65 10-00537-01
Cushyfloat  17-1600-D45 M12 10-00738-01
Cushyfloat  17-1609-45 M 16 45 IRH 17-1609-45 10-00545-01
Cushyfloat  17-1609-55 M 16 55 IRH 17-1609-55 10-00546-01
Cushyfloat  17-1609-65 M 16 65 IRH 17-1609-65 10-00547-01
Cushyfloat  17-1609-75 M 16 75 IRH 17-1609-75 10-00548-01




METALASTIK'NOVIBERA"

Stary Nr
Typ wibroizolatora Guma}’ Kat. lub Nr Kat.
(twardosc)
Nr Rys.

Cushyfloat 17-1657-45 M 20 45 IRH 17-1657-45 10-00557-01
Cushyfloat 17-1657-55 M 20 55 IRH 17-1657-55 10-00558-01
Cushyfloat 17-1657-65 M 20 65 IRH 17-1657-65 10-00559-01
Cushyfloat 17-1657-75 M 20 75 IRH 17-1657-75 10-00560-01
Cushyfloat 17-1841-50 M 24 50 IRH 17-1841-50 10-00606-01
Cushyfloat 17-1841-40 M 24 40 IRH 17-1841-40 10-00605-01
Cushyfloat 17-1841-60 M 24 60 IRH 17-1841-60 10-00607-01
Cushyfloat 17-1841-70 M 24 70 IRH 17-1841-70 10-00608-01
SIM 100 - 40 (100A) M12 40 IRH 318100 10-00043-02
SIM 100 - 50 (100R) M12 50 IRH 318130 10-00046-02
SIM 100 - 60 (100B) M12 60 IRH 318110 10-00044-02
SIM 100 - 70 (100C) M12 70 IRH 318120 10-00045-02
SIM 200 - 40 (200A) M16 409RH 318140 10-00047-02
SIM 200 - 50 (200R) M16 (50 9RH 318170 10-00050-02
SIM 200 - 60 (200B) M16 60-9RH 318150 10-00048-02
SIM 200 - 70 (200C) M16 70 9RH 318160 10-00049-02
SIM 300 - 40 (300A) M20 40 IRH 318180 10-00051-02
SIM 300 - 50 (300R) M20 50 9RH 318210 10-00054-02
SIM 300 - 60 (300B) M20 60 IRH 318190 10-00052-02
SIM 300 - 70 (300C) M20 70 IRH 318200 10-00053-02
Cushyfoot A1 17-0290-60 Zinc plated M 16 60 IRH 17-0290-60 10-04251-01
Cushyfoot A3 17-0290-45 Zinc plated M6 45 IRH 17-0290-45 20-00689-01
Cushyfoot BO 17-0213-00 Zinc plated M16 )) 70 IRH 17-0213-00 10-04103-01
Cushyfoot B1 17-0213-60 Zinc plated M16 60 IRH 17-0213-60 10-04104-01
Cushyfoot B3 17-0213-45 Zinc plated M-16 45 IRH 17-0213-45 10-04106-01
Cushyfoot HD1 17-0346-60 Zinc plated M 16 60 IRH 17-0346-60 10-04120-01
Cushyfoot HD2 17-0346-55 Zinc plated M 16 55 IRH 17-0346-55 10-04121-01
Cushyfoot HD3 17-0346-45 Zinc plated M 16 45 IRH 17-0346-45 10-04123-01
Metaxentric ™ 13-1165-50 50 IRH 13-1165-50 |  10-00244-01
Metaxentric ™ 13-1165-65 65 IRH 13-1165-65 |  10-00245-01
Metaxentric ™ 13-1270-50 50 IRH 13-1270-50 |  10-00252-01
Metaxentric ™ 13-1355-60 60 1RH 13-1355-60 |  10-00263-01
Metaxentric ™ 13-2174-60 60 IRH 13-2174-60 |  10-00297-03
SAW 125 A 40 IRH 2255130 10-00141-01
SAW 125 B 60 IRH 2255140 10-00142-01
SAW 150 A 40 IRH 2255150 10-00143-01
SAW 150 B 60 IRH 2255160 10-00144-01
SAW 200 A 40 IRH 814467 10-00075-01
SAW 200 B 60 IRH 814475 10-00076-01
SAW 300 A 40 IRH 814483 10-00077-01
SAW 300 B 60 IRH 814491 10-00078-02
Rect. SAW mountings  31-0242-45 459RH 31-0242-45 10-00648-01
Rect. SAW mountings  31-0242-60 609RH 31-0242-60 10-00651-01
Rect. SAW mountings  31-0242-70 709RH 31-0242-70 10-00652-01
Rect. SAW mountings  31-0285-45 459RH 31-0285-45 10-00656-01
Rect. SAW mountings  31-0285-60 609RH 31-0285-60 10-00657-01
Rect. SAW mountings  31-0322-45 459RH 31-0322-45 10-00658-01
Rect. SAW mountings  31-0322-60 609RH 31-0322-60 10-00659-01
Rect. SAW mountings  31-0406-60 M8 609RH 31-0406-60 10-00971-01
Rect. SAW mountings  31-0406-70 M8 709RH 31-0406-70 10-00663-01
3" COMP - 55 55 IRH 7293805 10-00067-01
3" COMP - 60 60 IRH 7293806 10-00065-01
3" COMP - 65 65 IRH 7293804 10-00066-01
Circ. SAW mountings 17-1392-45 M 10 45 IRH 17-1392-45 10-00492-01




METALASTIK'NOVIBERA"

Stary Nr
Typ wibroizolatora Guma}’ Kat. lub Nr Kat.
(twardosc)
Nr Rys.

Circ. SAW mountings 17-1392-60 M 10 60 IRH 17-1392-60 10-00493-01
Circ. SAW mountings 17-1392-70 M 10 70 IRH 17-1392-70 10-00494-01
AV - plate 500x500x8 Double 20-01798-01
AV - plate 500x500x10 Double 20-01667-01
Single AV - plate 600 x 500 x 4,5 Single 70136 10-00019-01
Double AV - plate 600 x 500 x 8 Double 70151 10-00020-01
TF 250 M 12 1860740 20-00623-01
TF 250 S/S M 12 2256520 20-00678-01
TF 600 M 12 1860780 20-00624-01
TF 600 S/S M 12 2256530 20-00679-01
TF 1200 M 16 1860790 20-00625-01
TF 1200 S/S M 16 2256540 20-00680-01
TF 3000 M 20 1860800 20-00626-01
TF 4000 M 20 (C 1860810 20-00627-01
TF 6000 M 24 - 1860820 20-00628-01
TFE 601 1861050 20-00629-01
TFE 1201 ‘ 1861060 20-00630-01
Cylindrical buffers 15-3459-60 M 10 — 60 IRH 15-3459-60 10-00337-01
Cylindrical buffers 15-3463-60 M6 - 60 IRH 15-3463-60 10-00341-01
Cylindrical buffers 15-3464-60 M8 60 IRH 15-3464-60 10-00342-01
Conical buffers 15-3435-60 M 10 - 60 IRH 15-3435-60 10-00334-01
Conical buffers 15-3443-60 M12 60 IRH 15-3443-60 10-00335-01
Conical buffers 15-3445-60 M12 )) 60 IRH 15-3445-60 10-00336-01
Conical buffers 15-3458-60 (L ™8 60 IRH 15-3458-60 20-00686-01
Conical buffers 15-3460-60 M12 60 IRH 15-3460-60 10-00338-01
Conical buffers 15-3461-60 (r M8 60 IRH 15-3461-60 10-00339-01
Conical buffers 15-3462-60 ) M6 60 9IRH 15-3462-60 10-00340-01
Rectangular buffers  15-0238-60 60 IRH 15-0238-60 10-00315-01
Rectangular buffers  15-0260-60 ' 60 IRH 15-0260-60 10-00317-01
Rectangular buffers  15-0437-60 60 IRH 15-0437-60 10-00322-01
ANB 50 . 2255290 10-00151-01
ANB 75 2255300 10-00152-01
ANB 100 . 2255310 10-00153-01
ANB 150 68569 10-00010-01
ANB 200 ; 68577 10-00011-01
Low Frequency M4 40°IRH 17-1394-45 20-00017-01
Low Frequency M4 60°IRH 17-1394-55 20-00018-01
Low Frequency M5 40°IRH 17-1395-45 20-00020-01
Low Frequency M5 60°IRH 17-1395-55 20-00021-01
Low Frequency M6 40°IRH 17-1396-45 20-00022-01
Low Frequency M6 60°IRH 17-1396-55 20-00023-01
Vee mounting 11-1033-50 M 14 50 IRH 11-1033-50 10-00196-01
Vee mounting 11-1033-60 M 14 60 IRH 11-1033-60 10-00197-01
Vee mounting 11-1082-55 M 14 55 1RH 11-1082-55 10-00205-01
Vee mounting 11-1082-65 M 14 65 IRH 11-1082-65 10-00206-01
M7A M6 40 1RH 2255110 10-00139-01
M7B M6 60 IRH 2255120 10-00140-01
M25A M8 40 1RH 1861220 10-00094-01
M25B M8 60 IRH 1861230 10-00095-01
M 50 A M 10 40 IRH 1861240 10-00096-02
M 50 B M 10 60 IRH 1861250 10-00097-01
M 100 A M 10 40 1RH 1861620 10-00100-01
M 100 B M 10 60 IRH 1861610 10-00099-01
M 200 A M 10 40 1IRH 1861660 10-00102-01




METALASTIK'NOVIBERA"

Stary Nr
Typ wibroizolatora Guma}’ Kat. lub Nr Kat.
(twardosc)
Nr Rys.

M 200 B M 10 60 IRH 1861670 10-00103-01
M 400 A M 12 40 IRH 1861680 10-00104-01
M 400 B M 12 60 IRH 1861690 10-00105-01
M 600 A M 16 40 IRH 1533710 10-00080-01
M 600 B M 16 60 IRH 1533720 10-00081-01
M 1500 A M 24 40 IRH 1533730 10-00082-01
M 1500 B M 24 60 IRH 1533740 10-00083-01
Equi-frequency mounting 17-0389-45 M 10 45 IRH 17-0389-45 10-00406-01
Equi-frequency mounting 17-0389-60 M 10 60 IRH 17-0389-60 10-00407-01
Equi-frequency mounting 17-1566-45 M6 45 IRH 17-1566-45 10-00529-01
Equi-frequency mounting 17-1566-60 M6 60 IRH 17-1566-60 10-00530-01
Fanflex 100 - 45 (yellow) M8 45 IRH 319900 20-00518-02
Fanflex 100 - 55 (blue) M8 559RH 319910 20-00519-02
Fanflex 100 - 65 (red) M8 (65-9RH 319920 20-00520-02
Fanflex 200 - 45 (yellow) M 10 45 9RH 319930 20-00521-01
Fanflex 200 - 55 (blue) M 10 559RH 319940 20-00522-01
Fanflex 200 - 65 (red) M 10 ( 65 IRH 319950 20-00523-01
MC 6535 - 45 (white) M 10 /) 45 1RH 2231000 20-00662-01
MC 6535 - 55 (red) M 10 55 1RH 2231010 20-00663-01
MC 6535 - 65 (black) M1 ([ 65 IRH 2231020 20-00664-01
BA 20/2 A - 40 1RH 67868 10-00005-01
BA 20/2 B ] 60 IRH 67876 10-00006-01
BA 20 A ) 40 1RH 2255230 10-00145-01
BA20B (( 60 IRH 2255240 10-00146-01
BA 50 A ) 40 1RH 2255250 10-00147-01
BA 50 B = 60 IRH 2255260 10-00148-01
BA 100 A ) 40 1RH 2255270 10-00149-01
BA 100 B : 60 IRH 2255280 10-00150-01
Double U-Shear 17-1480-40 ’ 40 1RH 17-1480-40 10-00511-01
Double U-Shear 17-1480-50 50 IRH 17-1480-50 10-00512-01
U 100 A M 12 40 1RH 67363 10-00001-01
U 100 B ‘ M 12 60 IRH 67371 10-00002-01
U130A M 12 40 1RH 67421 10-00003-01
U130B M 12 60 IRH 67439 10-00004-01
Metacone 11-1009-45 459RH 11-1009-45 10-00192-01
Metacone 11-1009-55 55 IRH 11-1009-55 10-00193-01
Metacone 17-0146-45 45 IRH 17-0146-45 10-00360-01
Metacone 17-0146-60 60 IRH 17-0146-60 10-00361-01
Metacone 17-0189-45 459RH 17-0189-45 10-00365-01
Metacone 17-0189-70 70 1RH 17-0189-70 10-00367-01
Metacone 17-0241-45 45 IRH 17-0241-45 10-00374-01
Metacone 17-0241-60 60 IRH 17-0241-60 10-00375-01
Metacone 17-0248-45 45 IRH 17-0248-45 10-00379-01
Metacone 17-0248-60 60 IRH 17-0248-60 10-00380-01
Metacone 17-0277-45 45 IRH 17-0277-45 10-00385-01
Metacone 17-0277-60 60 IRH 17-0277-60 10-00387-01
Metacone 17-0311-45 45 IRH 17-0311-45 10-00391-01
Metacone 17-0311-60 60 IRH 17-0311-60 10-00392-01
Metacone 17-0341-45 45 IRH 17-0341-45 10-00394-01
Metacone 17-0341-60 60 IRH 17-0341-60 10-00395-01
Metacone 17-0341-70 70 IRH 17-0341-70 10-00396-01
Metacone 17-0379-45 45 IRH 17-0379-45 10-00402-01
Metacone 17-0379-60 60 IRH 17-0379-60 10-00404-01
Metacone 17-0391-45 45 IRH 17-0391-45 10-00411-01
Metacone 17-0391-60 60 IRH 17-0391-60 10-00414-01




METALASTIK'NOVIBERA"

Stary Nr
Typ wibroizolatora Guma}’ Kat. lub Nr Kat.
(twardosc)
Nr Rys.

Metacone 17-0391-70 70 IRH 17-0391-70 10-00415-01
Metacone 17-0566-45 45 IRH 17-0566-45 10-00433-01
Metacone 17-0566-60 60 IRH 17-0566-60 10-00434-01
Metacone 17-0566-70 70 IRH 17-0566-70 10-00435-01
Metacone 17-1227-45 45 IRH 17-1227-45 10-00459-01
Metacone 17-1227-60 60 IRH 17-1227-60 10-00460-01
Metacone 17-1550-45 45 IRH 17-1550-45 10-00524-02
Metacone 17-1550-60 60 IRH 17-1550-60 10-00526-02
Metacone 17-1865-55 55 IRH 17-1865-55 10-00615-01
HK 60 - 40 (A) 40 IRH 2256900 10-01119-01
HK 60 - 50 (R) 50 IRH 318390 10-01122-01
HK 60 - 60 (B) 60 IRH 2256910 10-01120-01
HK 60 - 70 (C) 709RH 318380 10-01121-01
HK 60 Washer (Lower) Bottom Washer : 20-00416-01
HK 60 Washer (Upper) Top Washer . 20-01103-01
HK 150-40 (A) 40 RH 2256920 10-00188-01
HK 150-60 (B) 60 IRH 2256930 10-00189-01
Washer HK 150 (lower) Bottom Washer ‘ 2230400 20-00638-01
Washer HK 150 (over) Top Washer 2230390 20-00637-01
HK 600- 40 (A) 40 IRH 2256940 10-00190-01
HK 600- 60 (B) 60 IRH 2256950 10-00191-01
Cab Mountings 17-0890-45 45 IRH 17-0890-45 10-00440-01
Cab Mountings 17-0890-60 60 IRH 17-0890-60 10-00441-01
Cab Mountings 17-0890-70 70 IRH 17-0890-70 10-00442-01
Cab Mountings 17-1650-45 45 IRH 17-1650-45 10-00554-01
Cab Mountings 17-1650-60 60 IRH 17-1650-60 10-00555-01
Cab Mountings 17-1671-45 45 IRH 17-1671-45 10-00563-01
Cab Mountings 17-1814-45 45 IRH 17-1814-45 10-00598-01
Cab Mountings 17-1814-60 60 IRH 17-1814-60 10-00603-01
UH 70 70 IRH 1660850 10-00088-01
UH Washer 1660420 20-00608-01
Washer 50x10A Top Washer (50 x 10 A) 336070 20-00531-01
Washer 50x12C Bottom Washer (50 x 12C) 336000 10-03666-01
Washer 51x16A Bottom Washer (51 x 16A) 336120 20-00536-01
Washer 52x16 A Bottom Washer 318500 20-00416-01
Washer 55x12B Top Washer (55 x 12 B) 336050 20-00529-01
Washer 55x16B Top Washer (55 x 16B) 336110 20-00535-01
Washer 55x20A Top Washer 2230570 20-00643-01
Washer 67.5x20C Bottom Washer (67,5 x 20C) 336020 10-03707-01
Washer 80x16A Bottom Washer (80 x 16A) 336080 20-00532-01
Washer 80x16B Top Washer (80 x 16 B) 336060 20-00773-01
Washer 80x20B Top Washer (80 x 20 B) 336040 20-00528-01
Washer 110x20B Bottom Washer 2230560 20-00644-01
Washer 116x24B Top Washer (116 x 24B) 336030 20-00527-01
EH 4850 (A) 40 IRH 1860570 20-00621-01
EH 4850 (B) 60 IRH 1860560 20-00620-01
EH 6463 (A) 40 IRH 1860550 20-00619-01
EH 6463 (B) 60 IRH 1860540 20-00618-01
EH 9075 (A) 40 IRH 1860530 20-00617-01
EH 9075 (B) 60 IRH 1860520 20-00616-01
VP 10/2525 60IRH 70169 10-00021-01
VP 10/2540 60IRH 70177 10-00022-01
VP 15/3530 60IRH 70185 10-00023-01
VP 15/3550 60IRH 70193 10-00024-01




METALASTIK'NOVIBERA"

Stary Nr
Typ wibroizolatora Guma}’ Kat. lub Nr Kat.
(twardosc)
Nr Rys.

VP 20/4540 60IRH 70201 10-00025-01
VP 20/4575 60IRH 70219 10-00026-01
VP 25/5045 60IRH 70227 10-00027-01
VP 25/5085 60IRH 70235 10-00028-01
VP 30/6055 60IRH 70243 10-00029-01
VP 35/6560 60IRH 70268 10-00031-01
VP 40/7065 60IRH 70284 10-00033-01
VP 45/7570 60IRH 70300 10-00035-01
VP 50/8075 60IRH 70326 10-00037-01
UD Bushes 13-1004-60 60IRH 13-1004-60 10-00235-01
UD Bushes 13-1230-55 55 IRH 13-1230-55 10-00249-01
UD Bushes 13-1698-60 60IRH 13-1698-60 10-00276-01
UD Bushes 13-1782-60 603RH 13-1782-60 10-00277-01
Spherilastik centre Bore Type ~ 13-1006-60 (60°9RH 13-1006-60 10-00237-02
Spherilastik centre Bore Type  13-1316-60 60-9RH 13-1316-60 10-00257-01
Spherilastik centre Bore Type  13-2106-60 60 9RH 13-2106-60 10-00291-01
Spherilastik Trunnion Type 13-2033-60 ( 60 IRH 13-2033-60 10-00283-01
Spherilastik Trunnion Type 13-2202-65 - ‘ 65 9RH 13-2202-65 10-00302-01
Two Bolt Instrumountings  17-1061-45 M4 45 IRH 17-1061-45 10-00443-01
Two Bolt Instrumountings  17-1379-45 M6 | 45 IRH 17-1379-45 10-00470-01
Two Bolt Instrumountings  17-1380-45 M8 - 45 IRH 17-1380-45 10-00472-01
Two Bolt Instrumountings 17-1380-60 M8 60 9IRH 17-1380-60 10-00473-01
Two Bolt Instrumountings  17-1382-45 M6~ )) 45 IRH 17-1382-45 10-00476-01
Two Bolt Instrumountings 17-1382-60 [ M6 60 9IRH 17-1382-60 10-00477-01
Two Bolt Instrumountings  17-1383-45 M8 45 IRH 17-1383-45 10-00478-01
Two Bolt Instrumountings 17-1383-60 (7 M8 60 9IRH 17-1383-60 10-00479-01
Two Bolt Instrumountings  17-1384-45 ) M8 45 IRH 17-1384-45 10-00480-01
Two Bolt Instrumountings 17-1384-60 M8 60 9IRH 17-1384-60 10-00481-01
Two Bolt Instrumountings  17-1385-45 ' M 10 45 IRH 17-1385-45 10-00482-01
Two Bolt Instrumountings  17-1385-60 M 10 60 IRH 17-1385-60 10-00483-01
Flanged Instrumountings 17-1801-45 . 45 IRH 17-1801-45 10-00583-01
Flanged Instrumountings 17-1801-60 60 IRH 17-1801-60 10-00584-01
VT - lower A . M8 40 IRH 69567 10-01373-01
VT - upper A M8 40 IRH 69526 10-01369-01
VT - upper B . M8 60 IRH 69534 10-01370-01
VT Lower B M8 60 IRH 69575 10-00015-01
SE 75 50 IRH 1661010 20-00612-01
SE 250 50 IRH 1861110 20-00631-01
SE 750 50 IRH 1861120 20-00632-01
HA 12/12 M12 - M12 319800 40-04704-01
HA 12/16 M12 - M 16 319810 20-00509-01
HA 16/16 M16 - M 16 319820 40-04705-01
HA 16/20 M16 - M 20 319830 20-00511-01
HA 20/20 M20 - M 20 319840 40-02515-01
HAD 12/16 M12 - M 16 319850 20-00513-01
HAD 16/16 M16 - M 16 319860 20-00514-01
HAD 16/20 M16 - M 20 319870 20-00515-01
HAD 20/20 M20 - M 20 319880 20-00516-01
HAD 24/24 M24 - M24 319890 20-00517-01




